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Resource: Skill Six

Level 2 Award


OCR Level 2 Award in Thinking and Reasoning Skills J930

This resource is designed to accompany the OCR Level 2 Award in Thinking and Reasoning Skills for teaching from September 2009.

This resource supports the teaching of Skill Six: Seeking and Evaluating Explanations.
Necessary and Sufficient Conditions

A necessary condition is something which HAS TO BE the case.  

For example:
a) “You cannot go on a bike ride without a bike.”  

The bike is a necessary condition for going on a bike ride.  

b) “Breaking eggs is needed to make an omelette.” 

You cannot make an omelette without breaking eggs so breaking eggs is a necessary condition.  

A sufficient condition DOES NOT HAVE TO BE the case but is enough all by itself to make it the case.
For example: 
a) “I am 96 years old. I can get an old persons’ bus pass.”

You could get a pass when you’re 86 or 76, you don’t have to be 96 but being 96 guarantees you a pass, so it is a sufficient condition.  

b) “He won the Euro lottery. He’s a millionaire.”

You can be a millionaire without winning the lottery but it is enough make you a millionaire. So winning the Euro lottery is a sufficient condition.
For the following statements say whether you think they are necessary or sufficient?

1. Human beings must have air to live.

Necessary



Sufficient

2. Speeding will get you in trouble with the police. 
Necessary



Sufficient

3. Eating fish improves your memory.  I eat a lot of fish so I’ll definitely have a good memory.

Necessary



Sufficient

4. A square has four sides.

Necessary



Sufficient

5. You need to be a good footballer to play for Chelsea FC.  

Necessary



Sufficient

6. Eating lots and lots of sweets and chocolates will make you feel sick.  

Necessary



Sufficient

7. Being a good singer is enough to get you in a band.

Necessary



Sufficient


8. Every child must have a mother and a father.

Necessary



Sufficient

9. If you are sick you must have the flu.

Necessary



Sufficient

10. Attending all my lessons on time will make me successful in class.


Necessary



Sufficient
For each of the following work out the relationship between X and Y. 

This relationship will be one of the following:

· a necessary condition

· a sufficient condition

· neither a necessary nor a sufficient condition

· both a necessary and a sufficient condition.

(i) 
X: smoking cigarettes; Y: developing lung cancer

(ii) 
X: driving above the legal blood‑alcohol limit; Y: being convicted of driving above the legal blood‑alcohol limit

(iii)
X: having three A‑Levels; Y: getting a place on a degree course at university

(iv) 
X: the Labour Party winning a large majority of seats in the House of Commons; Y: the Labour Party forming a Government

(v) 
X: having all six numbers in the National Lottery draw on a valid ticket; Y: being at least one of the winners of the jackpot prize.

(vi) 
X: being unmarried; Y: being a bachelor

(vii) 
X: being four sided; Y: being square

(viii) 
X: being longer than 4 metres; Y: being longer than 2 metres

(ix) 
X: being a mammal; Y: being an animal

(x) 
X: being rational and intelligent; Y: being a person
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